bergab.ru Bepr Ab prom@bergab.ru Ten. (495)223-30-70

F.Ball Screw Support Unit




bergab.ru Bepr Ab prom@bergab.ru Ten. (495)223-30-70

BK Series (Fixed End)

A L -
S © - 4-@X drill through
/ | ; / ‘ @Y counter bore depthZ
i
T

— — O) Housing 1PCS
L - 5
- 1::r - :,[,* ® Bearing 1SET
147 il ® Lid 1PCS
i *::* S @ Spacer 2 PCS
! = 1 aele ® Seal 2PCS
‘ B ® Lock Nut 1PCS
A @ Screw with Washer | 1 PCS

Unit:mm

BK-10 10 60 46 34 13 6 300 [132:51 | 22 39

BK-12 12 60 46 35 13 6 30 | 325 | 25 43 25 5 29 5 16 | 55 | 15 | M3 | 6.6 | 11 5 | 7000ATYDFC8P5

BK-15 15 70 54 40 15 6 35 38 28 48 25 5 29 5 19 | 55| 18 | M3 | 6.6 | 11 | 1.5 | 7001ATYDFC8P5

BK-17 17 36 68 50 19 8 43 55 39 64 2 6 32 6 22 | 55| 18 | M3 | 66 | 11 | 6.5 |7002ATYDFC8P5

BK-20 20 38 70 52 19 3 44 50 34 60 35 9 44 7 24 | 66 | 28 | M4 9 14 | 8.5 | 7203ATYDFC8P5
35 8 43 8 30 | 66 | 22 | M4 9 14 | 8.5 | 7004ATYDFC8P5

, Tolerance
Suggest Dimension of End Machining 3 _
T

H1T Above | Under h
L View A-A AP ki Type =)
RI M Q|R2MAX) - A 6 10 15

z | M. /o — [ - 7
3| ] /s / (1Y) o == 10 18 -3
ct c_2/.§_| €3  Va— / i ‘ -18
F E gwvwf /N |eE== — P
. M P R P 18 | 24 _2?

BK-10 @12, @14, 315 10 8 39 15 | M10x1

BK-12 @14, 015, @16, D18 12 10 39 15 | M12x1 16| 10| 5 (RO IR0 R0 58N 03 H0168 (F2x 41218 ] 75| 11 [BK-10

BK-5 218, 220 15 12 20 50 | M15x1 14| 13| 6 05|05 |05 |03 |06 |3x1.8] 12 [95] 12 [BK-12

BK-17 @20, 25 17 15 53 53 | M17x1 12| 16| 6 9 [05|05]|05| 03 |06 |4x25] 16 |11.3| 16 |BK-15

BK-20 @25, 028 20 17 53 55 | M20x1 17|18 7 |10 | 05|05 | 05| 03 | 0.6 |5x3.0] 21 [14.3| 21 |[BK-17
15|21 8 [ 11| 05|05 |05 | 05 | 06 |5%3.0] 21 16 | 21 |BK-20

117 | @TOoCOo’ @roco° | 118

Linear TechCo, Ltd. Linear TechCo., Ltd.



bergab.ru

BK Series (Fixed End)

Bepr Ab prom@bergab.ru

4-@X drill through
@Y counter bore depthZ

BK25 | 25 | 106 | 85 | 64 | 22 | 10 | 53 | 70 | 48 | 80
BK-30 | 30 [ 128 [ 102 | 76 | 23 | 11 | 64 | 78 | 51 | 89
BK-35 | 35 | 140 | 114 | 88 | 26 | 12 | 70 | 79 | 52 | 9
BK-40 | 40 | 160 | 130 | 100 | 33 | 14 | 80 | 90 | 60 | 110

. . .. 7N

Suggest Dimension of End Machining e

N\
7
=z View A-A
R1 M ofR2( =R
17&
& N/ a
) L AN / s
c1/| c2/ ‘§J c3
F E G[H
—-—A
BK-25 @32, 936 25 20 65 30 |M25x15
BK-30 @36, @40 30 25 72 38 |M30x15
BK-35 @40, @45, @50 35 30 83 45  |M35x1.5
BK-40 @50, @55 40 a5 98 50 |M40x1.5

LinearTechCo., Ltd.

119 | @roco’

Ten. (495)223-30-70

@) Housing 1PCS
® Bearing 1 SET
® Lid 1PCS
@ Spacer 2 PCS
® Seal 2PCS
® Lock Nut 1PCS
@ Screw with Washer | 1 PCS
Unit:mm
42 | 12 | 54 9 35 9 33 | M5 | 11 | 175 | 11 | 7205ATYDFC8P5
45 | 14 | 61 9 40 | N 33 | M6 | 14 | 20 | 13 | 7206ATYDFC8P5
50 | 14 | 67 | 12 | 50 | N1 35 | M8 | 14 | 20 | 13 |7207ATYDFC8P5
61 18 | 76 | 15 | 50 | 14 | 37 | M8 | 18 | 26 | 175 | 7208ATYDFC8P5
Tolerance
Above | Under h
H1 Type H2 Type
-3
18 30 21
— | j - == '
wi e | —— 30 | 50 -4
N p R p -25
SRS 278 (RO N1 3N FOL5 N RO /SINEOS (EOS N IR0 6N 63651 N2 5 19 | 25 [BK-25
2532|1015 05|07 |10 | 05 | 1.0 |8x40| 32 |[235| 32 [BK-30
28 | 36|12 |15 | 05|10 |10 | 05 | 1.0 |8x40| 40 |[28.5| 40 [BK-35
35| 4114|1905 |10 |10 | 05 | 1.0 |10x5.0] 45 33 | 45 |BK-40
@roco
Linear TechCo., Ltd.

120



bergab.ru

BF Series (Simple End)

H1

==

o

Bepr Ab prom@bergab.ru

2-@X drill through
@Y counter bore depthZ

N 4-oP

Ten. (495)223-30-70

121

34 30 32,5 29 39
BF-12 10 60 46 35 30 325 25 43
BF-15 15 70 54 40 35 38 28 48
BF-17 17 36 68 50 43 55 39 64
BF-20 20 38 70 52 44 50 34 60
BF-25 25 106 85 64 53 70 48 80
BF-30 30 128 102 76 64 78 51 89
BF-35 35 140 14 88 70 79 52 96
BF-40 40 160 130 100 80 90 60 110

Suggest Dimension of End Machining

)
_ %|, ,,,,,, /.

I

[
BF-10 @12, @14, @15 8 10
BF-12 214, @15, @16 10 "
BF-15 @18, @20 15 13
BF-17 @20, @25 17 16
BF-20 @25, 328 20 16
BF-25 @32, @36 25 20
BF-30 @36, @40 30 21
BF-35 @40, @45, @50 35 22
BF-40 @50, @55 40 23

@TDBD'
Linear TechCo, Ltd.

(1 | Housing | 1PCS
® Bearing | 1PCS
® | CRing | 1PCS
Unit:mm
20 15 55 6.6 11 5 c8 60872
20 18 55 6.6 11 15 c10 6000ZZ
20 18 55 6.6 11 6.5 Cc15 600227
23 28 6.6 9 14 85 c17 620327
26 22 6.6 9 14 85 C20 6004ZZ
30 33 9 11 17.5 11 Cc25 620522
32 33 11 14 20 13 C30 620622
32 35 11 14 20 13 C35 620722
37 37 14 18 26 175 C40 620822
Tolerance
E Above | Under h
= 6 10 2
5 -15
o
-3
. T 10 18 18
s 8 | 30 | 3
B+8 14 25 B
:_.M 30 50 4
25
76 0.9 7.9 BF-10
9.6 115 9.15 BF-12
143 115 10.15 BF-15
16.2 1.15 13.15 BF-17
19.0 135 13.35 BF-20
239 1.35 16.35 BF-25
28.6 175 17.75 BF-30
33.0 175 18.75 BF-35
38.0 1.95 19.95 BF-40

@roco

Linear TechCo- Ltd.

122



bergab.ru

EK Series (Fixed End)

2-@X drill through

H1

=il

@Y counter bore depthZ

!

Bepr Ab prom@bergab.ru

%

EK-6 6 42 30 18 21 20 13
EK-8 8 52 38 25 26 26 17
EK-10 10 70 52 36 35 24 25
EK-12 12 70 52 36 35 24 25
EK-15 15 80 60 41 40 25 30
Suggest Dimension of End Machining ,,
N
. 7]
a View A-A
R1 M S|R2(MAX)  ——A
¢ ' N
c/| c2/] g c3
F E G|H
—A
EK-6 @6, 78 6 4 30 8 [M6x0.75
EK-8 @10, @12 8 35 9 | mex1
EK-10 @12, @14, @15 10 8 36 15 | M10x1
EK-12 @14, @15, @16 12 10 36 15 | M12x1
EK-15 @18, @20 15 12 49 20 | M15x1

123

@roco

Linear TechCo., Ltd.

Ten. (495)223-30-70

S S |M ©) Housing 1PCS
20X 3
drill through ® Bearing 18ET
il -
/C) ® Lid 1PCS
- ®&/® i ‘ i ® Spacer 2PCS
i ® Seal 2PCS
— ® Lock Nut 1PCS
A @ Screw with Washer | 1 PCS
ERl=1 Unit:mm
25 20 559 22 35 M3 55 9.5 11 12 706ATYDFC7P5
32 23 7 26 4 M3 6.6 1 12 14 708ATYDFC8P5
43 24 6 295 6 M3 9 - - 16 | 7000ATYDFC8P5
43 24 6 295 6 M3 9 - - 19 | 7001ATYDFC8P5
49 25 6 36 &) M3 1 - - 22 | 7002ATYDFC8P5
Tolerance
H1 Type H2 Type Above | Under h
-2
6 10
————————————————— -15
17 o= 3
_____ / ¥ - 10 18 18
4 -3
N p R P 18 | 24
21
10| 5|14 | 4 |03|03(03]| 03|06 - - S 1.5 | EK-6
10|/ 8| 5| 5103|0303 | 03] 06 - - 56 1.5 | EK-8
11|10 5|7 (05| 05|05 | 03 | 06 [2x1.2 11 75| 11 |-0.5/EK-10
111131 6 | 8 | 05| 05|05 | 03 | 06 |3x1.8 12 95| 12 |-0.5|EK-12
13|16 6 | 9 (05 | 05| 05| 0.3 | 0.6 |4x25 16 [11.3| 16 | 5.0 |EK-15
@TD co’
Linear TechCo., Ltd.

124



bergab.ru Bepr Ab prom@bergab.ru Ten. (495)223-30-70

EK Series (Fixed End)

4-@X drill through L2 L3 L2 L3

2
@Y counter bore depthZ & ‘]_ % [ -
o I
i L ﬁ@ Lt 1010 ° @W&W 40X dril though__ [T RO
| 0] WL Z A (« o >
| e~

. Nz
/ - - = L_ =
- \/ Pirfl el o i3 J 1 LS =
e il I} | i
1 <:L1 [ | L'—E"—l' i _H_'E—H_ | 2 2-977 8 diill through
EK-20S
EK-20 EK-25
Unit:mm
EK-20 20 %5 75 56 475 25 30
=TT 8 T8 5E a5 BB BE 5 - | - |58 |42 |10 |50 |10 [M4]| 11| - | - | 30 |7204ATYDFCSP5
9 |30 |68 |48 | 13|60 |14 |M5] 11| - | - |35 |7205aTYDFCSPS
Suggest Dimension of End Machining _ Tolerance
N\

& View A-A yp Above | Under h

, Lo R M SRAMAX) A - " )

A e 2 A ﬁ » T 5 / Jg e = _15

-a— il o / —7 - ] :

J- =010 = ¢/l 2/ s c3 g E ' 1 10 18 18

. l F E G|H / —————————— 5

—k N P i P 18 24 21

EK-20 @25, @28, @32 20 17 64 25 | M20x1 _

EK-25 232, 936 25 20 65 30 |M25<15 171218 (11| 05|05 |05 |05 |06 [5%x3.0] 21 16 | 21 | 1.0 |EK-20
18127 {10 |13 | 05|07 [ 1.0 | 05 [ 0.6 [6x3.5| 25 19 | 25 | 1.0 |[EK-25

125 | @TO @ro 126
Linear TechCa le Linear TechCa Ltd



bergab.ru Bepr Ab prom@bergab.ru Ten. (495)223-30-70

EF Series (Simple End)

c @) §D
| '—’| 2-@X drill through ?7
2-6X drill through @Y counter bore depthZ .
/\ —_— @l @ Housing | 1 PCS
I 71 (? - ] &t (@ | Bearing | 1PCS
&) .. sn I | _
< T T Il E E o @ C-Ring 1PCS
| E 1 /
I —— — L
A
A
EF10~15, EF20~25
EF6~8 Unit:mm
EF-6 6 42 30 18 21 20 13
EF-8 6 52 28 - - - = 25 12 55 9.5 11 c6 60627
EF-10 8 70 52 36 35 24 25 82 L. 6.6 11 12 ce Bl
EF-12 10 70 52 36 35 24 25 - 20 9 - - cs 60822
EF-15 15 80 60 41 40 25 30 43 2a i - - il GaE 2
EF-20 20 95 75 56 475 25 30 = 20 9 . = C15 600227
EF-25 25 105 85 66 525 25 35 8 26 " s ; c20 620427
68 30 - 1 : c25 620522
- Tolerance
Suggest Dimension of End Machining _
b
] é Above | Under h
e | 11 TR TR ~ )
€ R | AR
< <) ¥
TTIT ° J- / 10 18 12
Lyl gro1a | -
1. 0 - C+0.2 3
H : 18 | 24 51

EF-6 @6, @8 6 9
EF-8 @10, 12 6 9 57 08 6.8 EF-6
EF-10 212, @14, @15 8 10 8. 08 6.8 EF-8
EF-12 @14, @15, @16 10 1 7.6 0.9 7.9 EF-10
EF-15 @18, @20 15 13 9.6 1.15 9.15 EF-12
EF-20 @25, @28 20 19 14.3 1.15 10.15 EF-15
EF-25 @32, @36 25 20 19 135 15.35 EF-20

23.9 1.35 16.35 EF-25

Linear TechCo., Ltd.

127 | @roco @roco’ 128



bergab.ru

FK Series (Fixed End)

oDg6

i

Bepr Ab prom@bergab.ru

4-@X drill through
@Y counter bore depthZ

T1|

Method A

FK-8 14 23 26 28 9 35
Suggest Dimension of End Machining o~
# W
it g [
oD Ri_ M_S|R2(MAX)
N T s
W z N Lo
2 : N7
- ct/|c2/] s c3
B Fl  E GlH

FK-8

35 9 M8x1

129|@

Ten. (495)223-30-70

H, F
- - -0.007 O Housing 1NPES
nE ' -0.020 ® Bearing 1 SET
E%}E [ ® Lid 1 PCS
=2 2 ® Spacer 2 PCS
] ® Seal 20RES
n| | e ® Lock Nut 1 PCS
Q) Screw with Washer | 1 PCS

Method B

Unit:mm

M3 85 7 4 8 5 34 | 6.5 4 14 708ATYDFC8P5

H1 Type

Tolerance

<< Above | Under h
== 6 10 2

=13

15 0.5 0.5 0.5 0.3 0.6 5.6 7 155 05 | FK-8

@roco" | 130

Linear TechCo, Ltd.



bergab.ru Bepr Ab prom@bergab.ru Ten. (495)223-30-70

FK Series (Fixed End)

" Ll L L2
F_H 4-@X drill through H,_ F
@Y counter bore depthZ
RYR & PO | Q) Housing 1PCs
o~ -
: =5 £ F @ Bearing 1SET
O EL T 2 HT Hl ©
) N 8 E&E 7777777 ) ® Lid 1PCS
s S STt s SO @ Spacer 2PCS
| 5 H ® Seal 2PCS
|l e 12 E ® Lock Nut 1PCS
@ Screw with Washer | 1 PCS
Method A Method B
FK-10 10 52 17 27 | 295 | 34 10 42 M3 | 42 | 75| 5 | 85| 6 | 45| 8 4 | 16 |7000ATYDFC8P5
FK-12 12 54 17 27 | 295 | 36 10 44 M3 | 44 | 75| 5 | 85| 6 | 45| 8 4 | 19 |7001ATYDFC8P5
FK-15 15 63 17 32 36 40 15 50 M3 | 52 | 10 | 6 | 12 | 8 | 55| 95| 6 | 22 |7002ATYDFC8P5
FK-20 20 85 30 52 50 57 22 70 M4 | 68 | 8 | 10 | 12 | 14 | 66 | 11 | 10 | 30 |7204ATYDFC8P5
FK-25 25 08 30 57 60 63 27 80 M5 | 79 | 13 | 10 | 20 | 17 | 9 | 15 | 13 | 35 |7205ATYDFC8P5
FK-30 30 117 32 62 61 75 30 95 M6 | 93 | 14 | 12 | 17 | 18 | 11 | 175 | 15 | 40 |7206ATYDFC8P5
Suggest Dimension of End Machining . Tolerance
F ]| H1 Type H2 Type
b J
i L
Ri_ M S|R2(MAX) S
— — T e 6 10
5 ﬁj J £ / oy - = i =
S/ e/ g s/ 11 e = 10 18 -18
F I E Gl H A P |_R_| P | 3
18 30 59
FK-10 @12 @14, @15 10 8 36 15 | M10x1 11(10| 5|7 [05[05|05| 03 | 06 [2x1.2[ 11 |75| 11 | 05|05 [FK-10
FK-12 @14, 315, 316 12 10 36 15 | M12x1 11[13| 6 05[05[05| 03 | 06 |3x1.8[12 (95| 12 |05 |05 |FK-12
FK-15 @18, @20 15 12 49 20 | M15x1 13(16| 6 | 9 [05(05(05| 03 | 06 [4x25( 16 [116( 16 | 4 | 2 [FK-15
FK-20 @25, 728 20 17 64 25 | M20x1 17(21| 8 [11|05[05({05| 05 | 0.6 [5x3.0(21 [16] 21 | 1 | -3 [FK-20
FK-25 @32, 336 25 20 7 30 |M25x15 20(27[10(13|05|05|05| 05 | 06 [6x35|25 (19|25 | 5 | -2 |FK-25
FK-30 @40, @50 30 25 72 38 |M30x15 25(32[10|15|05|05|05| 05 | 0.6 | 8x4 | 32 [23.5/ 32 | -3 | -6 |FK-30

131 | @rocor @roco | 132

Linear TechCo, Ltd. Linear TechCo., Ltd.



bergab.ru Bepr Ab prom@bergab.ru Ten. (495)223-30-70

FF Series (Simple End)

4-@X drill through
3 @Y counter bore depthZ

22 8% (D | Housing | 1PCS
h— 28 B @ | Bearing | 1PCS
-0.009 _Rii
| 34 B () | CRing | 1PCS
-0.009
H—a) ¢ .
T
@ = —
- T 75 -0.029
L
Unit:mm
FF-6 6 10 6 4 22 36
FF-10 8 12 - 5 28 43 28 28 34 6.5 4 cé 60627
= T = - 5 = = 35 35 34 6.5 4 c8 60822
FF-15 15 17 9 8 20 63 42 42 45 8 4 c10 6000ZZ
FE-20 20 20 » 9 57 85 50 52 55 95 55 c15 600227
FF-25 o5 24 12 10 63 98 70 68 6.6 1 6.5 c20 620477
FE-30 30 57 18 9 75 17 80 79 9 14 85 c25 620527
95 93 1 175 1 c30 620622
Suggest Dimension of End Machining Tolerance
E
e Above | Under h
5 Z
A 6 | 10 | ¢
ARt 5 -3
| < 0 | 18 | 3
Bch _3
4{4:_44 18 24 o
FF-6 @10, @12 6 9
FF-10 @12, @14, @15 8 10 5.7 0.8 6.8 FF-6
FF-12 @14, @15, 316 10 11 76 0.9 79 FE-10
FF-15 218, @20 15 13 96 1.15 9.15 FF-12
FF-20 @25, @28 20 19 143 1.15 10.15 FF-15
FF-25 @32, @36 25 20 19 135 1535 FF-20
FF-30 @40, @50 30 21 239 135 16.35 FF-25
28.6 175 1775 FF-30

133 | @roco @ToCcOo" | 134

Linear TechCo, Ltd. Linear TechCo., Ltd.





